EARAZROREIERT — 2 N—XBISY —F 201856 29H (£) 6EIAFH5H

(VBB v — X1 RE B3 #5%—#% (xwlw | mEmml - |5 5 w8
[A&4£] 1 7% :3,000,000 @ 23 :1,200,000 33 :750,000 4 3% :450,000 @ . 5 7 :300,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s o4 | BEY 1:41.9 2-2-2-2 | 39.8| — 5 463 | EEETAA (ARAE)
i lgl13| 7 poALL R s Gy | ) L7z
LN T—I— B:T7ROANIL B &F*E
= it 5 | EBXH 1:41.9 7-7-4-3 | 39.4| — 1 491 | REEZ (KH)
2(8|12| 7741 54.0 (7E) ) | 0B) meEds
L:T7I1F13IVF—- B3 /UH-U— BAAHNS
. ke : -1-1- — B (KH)
3 AZE AR G A IR %ﬁf R B ? g B —ER
L:hE=X2—-F— B:x1-—-bxX2 FARBRER 45
S fos s KHEZ : —6-6- — BRA—H (KH)
4 4| FIHET AR 3 Pt 1.(453).0 6-6-6-6 | 40.3 3 (4_638) apaeong
R:8— kLRI B:T7LLH—0 HE%E
; 6 | AMBEEX 1:43.2 12-12-12-12| 39.6 | — 7 447 | SLAEMR (KF)
51711 7E7 54.n0 (3/4) (-2) & V=77
:tr/snJaqd B4 IXF TR HET77— L4
SX S, o — fo4 | REE— 1:43.4 9-9-10-8 |40.5| — | 12 | 447 |THAIE (K3#)
EE 8 1 XIVKRZ 54.0 (1 1/4) -3) RILEFT
R—FHIIYL BiA I Ny 21— e
T f 5 | PRET 1:43.4 8-8-9-10 [40.5| — | 13 | 427 |EARE ()
7157 v 54.0 (74%) (a) | ) YSK
LT — KT 2 B:TIYTUyY XF @A
S FiEL : 57— — MR (KH)
gli|1|7*Upr=yvox "4 R 1(/;?:;5 R 0 f;) E A
R:T7AVALKRZ BANLES N TOTT SHARKS
3 -z # 5 | SEHEK 1:43.8 1M-11-11-11] 40.4 | — 11 499 | AREEZ (KFH)
Eﬂ 5 VyIb—X 54.0 (1 3/4) (+4) 285%F
RIVINA T A—H— B:VTTI—a BENS
# o7 | EIEFE 1:44.5  [13-13-12-13/40.9 | — | 8 | 531 | SIEME (i)
10[7 10| 7Y 7 A 6.0 @ 1/2 o | ZEBE
R:F4—TA2NNT7 8 B:ZbLIF vy b (B) #HAEA-FKL—Ya>AET7
i, = 4 o6 | HIIE 1:44.7 10-10-8-8 | 42.0 | — 6 530 | ETFEME ()HE)
EH 9| F—F¥71— 56.0 (3/8) 43 |WTE
RIVINAT7A—H— B:7AQFI—7F NI 455
S s o4 | HEEE— 1:46.3 4-4-3-4 | 44.0| — 4 511 | REZEH# (KH)
12|56 oo —H— 56.0 (8) @5 | A) AEER
R:772AUILT B:¥> 17l B 77— L4
. . 1 5 | FEER 1:46.5 3-3-4-5 |44.0| — 9 489 | RIMATR (KH)
13 3 'JJ’f 7T IbN—)b * 56.0 (3/4) © -r(H() e
LYY T4 T B:Tzly b B4 Rlak
® I—F—@EBIERL
|S=7r= 2,13,3,6,1,4,12,7,8,9,5,11,10
Ao=5"= 2,13,3,6,1,4,12,7,8,9,5,11,10
3T—7— 2,13,6,(3,12),4,1,9,7,8,5,(10,11)
43—+ — 2,13,12,6,3,4,1,(8,9),7,5,11,10
[ RN
-y 13 830M | | 71 K 12-13 490/ | | B = 8-8 1,210 | | &8 | 2-12-13 2,070M
# B 13 240H 2-13 810 B 8-8 1,260M EE 13-12-2 13,280H
12 130H 2-12 270M B = 12-13 1,250
2 170 B H 13-12 2,960

ABICOVWTRDTEEERROODE. TR LIV,



